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Q1. Use (po, qo) = (0.1, —2) to estimate the solution of the following system using Gauss Seidel

iteration:
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Use 4 significant digits rounded to find the first 2 iterations.

v,

% \

1]

G o o) o) -2 w2z v - @3

Gkl =) £ 63 & - oafzam) -\ =03(3289))

= 2 EVE= = ‘\,Zléi

F, = 9, (0. 2),0r.216)) = 0.2+ 1.204 - (o.M E)x2 =
\’g'\(,._a.;(;“i?i—‘:_ \,\S’\J\.zgg_-\“

V)

w 1

-

-\uz-\L

T, -9, (2o, Laie) = 2057 (2038) -\ = 3ann (6.29467) -\
VRN e
Q.. Find the Jacobian matrix for the following system at (po, go) = (0.1, —2).

filz,y) =s+y—zy+2
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®@1. Use (po,q0) = (0.1, —2) to estimate the solution of the following system using Newton Method:
flzy)=z+y—zy+2=0,
fa(z,y) =ze™¥ —1=0.

Use 4 significant digits rounded to find (p1, ¢1).
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